STNAFERBAREFY Yy h—KEhHEHIZHFRE
1.E f —RHEZA BERYYHI—HR
2. X & —REEEA BERYYH—BRIAXD=BEES

3. #H8 - =15

¥ & Y — 45 48 9B ( £ )~ 48168 ( £ )
FR—IEITOvIREG

-—xk Yy =4 48238 ( £ ) ZRU—TEHF—LIOLRIGRE

R b—F Ak 48298 ( & ) =£i5:FBKKRE

¥ i H ¥#J—4:108 (A) . 178 (H)
—XxR\Y—4:48248 (H)

L\ﬁ\;z%i}&ﬂ’? F—F A2 br: 4B30H () £15 : smr—rroretr—

4. BRERA
(EmF—L] 2K 12 F—L

(ZmE&E %] 2 1TEMAMETICARY YD —BRICERFLTHIF—LRTEF
(R&EWMBIEFIEEHER

[X&RHK]
¥ ®E Y — 45 3TAayYITpItEfi2 F—LNZRY) =5~
- xk Yy —- 5 270v9(bhlf, ER2F—LNRBEF—F A2 A

REBELE—F A2 BF—LARKEICHIE

[HEFM] IRT50H945—L (25—5—25)
BEDEES. REBEF—FT AV FDH. 100 (5—5)DEEHETLN. T T
LRLEWVVBAIFSAICEBPKEIZKY EAICEHT EZ2F—LERD D,

[ g iz iR 7 ] D HbE B3 H1 A0) @ YV—YHOBkRRE
Q@ V=T RAOKREBAE @ BUF—LBEOREHER
® 5 A=k BPKE

(& &1 30&zHARK30AHETIZESR,
( 1 f@&THLEEE. VT2 bl
(HE K] BF—LTSEEEHBELFYLTS

[1274+-4) OFBEKICEFLEZI1BULEDIZI+—L4L (UvY, 23—YRUVYYY
R) ZHELBICES L. BRLEFNIEGE S, (2FHANLEFELLY)
Q@A=T7#+—LDTHA Y, ATENEL > TLWTIHIEABRBETHENEDHS
BE. EE5EARRBTHNEFERTHIENTES(ETRELT),
QFHE(F. T E2F—LDI= T+ —LOBEINEULTEYHIB LALZL
EHIFELI-E Z(X, MF—LDIBELDE EIZ, FOHABIZELTHWThD
F—LNEIREEERTEEERET B,

@F o5 —2a—YBLUELYDEILREHEL, = LEAELTF—LK
TReEDLDEEFRT 5.

RIBEFRE1HAOHGEZEFLET S REZERTRET D)
ELEEFREBEL. 2KTRO1HEDOHEZFLT S
ZEFXPRAPELZBLTRLBL, =2 LPSMOMA*
EDRETOES - BBIEFFFLELEL,

(= F1 @ N# @ =t Q@ Hz - ERYP

Xt

%
i
(i
e

(2 D] ZoMmEERYYH—BEBRRY (21/22) IT£FD
MERFAF—To5m

(BRERK] ERF1ANCODE REZ1L2OABHERZEZERT S,
HERBRLEIC. ZEDICTFHEVEERET S,
KBNTIE, D4— 297y 7 -HEEZBRE. BTIRIVEERT S,
ROFOEZEFIZ. SROEERT 5,
HERT®R. NUFEHEET S,
EEREZERL. XELBE3T.5CULDERBNHDES.
ZIZTBMTELHL,



5. #H#EHE

—R)=4
1 2 3 4 5
A J\rh Hh =-t miE
B & Y £k H Mtk - ER
c BiZ - R — B A
4 R 9H =5 = 4 B 168 £15: =
xR =1 xR =¥
9:00 J\th 0-0 FHA | =-+ @x |=-t1-2 FHA J\th %
10:06 | = -+ 0-1 FIF J\eh A J\tf 0-1 ¥ Hh =t
1230 | Adp 1-6 HFE| =-t J\th -
1333 | J\tf 3-1 =-+]| @ Eils -
4 H 9 H =15 : Bk 4 A 16H =15 : Bk
xR =¥ xt B =¥
9:00 —th 1-0 M R mk-EE] BRAE 1 -1 PEAR e k- R
10:05 | BRE 4 -1 ®@mk-#R| =& g 1 60 mi-#EE| mo £R
12:30 PAh 1 -0 mit-#FE| KA =t -
13:35 | —a 1-0 BRHEH |wmk-#R @ -
4 B 9H =15 . —h 4 B 168 =15 . —h
xt =¥ xt B =¥
9:00 |mz-mm2-1 —rh HhER A MER 1-6 —r |EE-mEE AT
10:05 | #lER o0-3 JNep |mE-mE —f |®RE-BER1-0 7N —th HhEm
12:30 | —h 4-1 ZRib wWER  RE-ER -
13:35 |®z-%R 8 — 0 #iEM A —th -
A 142 /\5 2461 AP
B 141 = 241 BREA
C 14 Bz -EEE 2{u —




—xry—4 ( 4A 23H =15 B =15 H

FHEB 248 =15 H FHEE 248 £15: H
1 2 3
D A1 4L J\eh B2 SRHE C2fI —db
B14f —rh |ciiz mz-mEe| A24L FHep
B M X B g H
D (%15 : RAH)
9:00 (A1fz N\ 3 — 1 C2fL —r| B2 tREF
11:30 B2 gk 6 — O C2fL —rh A14L J\ep
14:00 [A14Z J\ff 1 — 2 B2fi fREH C2fx —H
E (&15 : BZ#Edh)
9:00 |B1fz = 1 — 0 A2fL HA|C14 EiF - ERF
11:30 [crrmz-mre 3 — 0 A2{z HH B1fz —rh
14:00 [B1fif = 1 — 0 crr m#- s A2 FHep

R rk—F A2 ( 48 298 £15 : FKELEG ¥®EBA: 308 )

13:00
B E— - ETHAOAHF—L

T - 2 2 - 1

9:00 10:10
wr. D 14L wr. E 14
B ™ =¥ o
ﬁ&D E 2L @E _E D 2{i1 /\D
H 1 [RiE2 ; 1 h 2
==K v2 th - i iz v
BT —rh FIAL BE - EEREG E=4I AN

=6 fREA
6. T x EHLLEDHEIET, FHEJZFEOAL/TL. FF—LERNERL
TLEEW, Ffz, BHITG 258, REFTTIERILS,
105HICER - BIFE - FA4DBHATHLEDEZIT o TLESLY,
AITO0—H—F Ly FA—FIBEBED:H, TBREHBAREFTHRESBEOLET,
ERE3F—LMNBRRRICHIET S

% oF %



